ST 645y i = X 15
HXATE 4 . FeE P E RS
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| AR HT EiE 5 5 iR 50 | L2|f 14 27 4.9 4.9
EFELIA D Mtk
1 PSRN o 2 A Hh K — .o 12 | —
2 FELS o 50 | L1|f 8. 5f 15 4.9% 4.9
| BT L5y [LSTERALA
1 FREERBE N o B A Hh O —ft 5.7l 9.5 | —
2 kLo 50 | L1[h 8.7/ 14t 1. 0%t 1.0
_EFRLASh o> it
1 REEIRBE G o B A il O it o8 el 5.6 | —
2 LSO K 50 | L1|H 5. 7fE 8 I L1 1.1
BB AR ESpER IR =R A 50 | L1|% 12 244 8.7 8.7
LFRLLA o> it
1 REERE MG o 2 DO — o5 4 11— —
2 hEELAh oo Hitdk 50 | 11|48 7 144 1. O 1.0
E N A )| [ STERA
1 RERBHE N 0 B Al X —ti 6.0 9.5  —| —
2 _ERCEA Ot 50 | 1.1|% 8.7 148 1.0 1.0
LFRLAA O iR 50 | 1.1 [ 3. 1[40 5. 40 1. OfE 1.0
ELRERT T4y [STER A
1 BREEIREME P 0D B T i —d 5.6 9.5  —| —
2 _LEBsA o ik 50 | 1.1 |4 8.7 14 1. OfE 1.0
EFELA o> ik
1 BB o B2 A X I —fl 3. 6 5.6 0 —| —
2 LERLIS o s 50 | 11| 5.8 8 1l 1ol 1.0
HREMEET SR
1 RS o = A KO —#fl 5. 7THE 11 — —
2 LFELh o g 50 | 1| 8.7 1460 1Ol 1.0
EFRLIA 0> HitlE




&F0 645y i = X °H
HXATE 4 . FeE P E RS
S (TR wass @M m oW g [P ACEERTEECEA RS
1] FRENTHE T | ROERREN O B R - P e I
2 kRIS Hk 50 | L1|f 8.7 145 1. OfE 1.0
FREOTPHE) [ S TERAA
1 EREiR B s Py o 2 R il KO i 6.0 9.5  —| —
2 FEREAAh o Mgk 50 | 1.1 (% 8.7 145 1.0 1.0
EELIA 0 i 50 L1ﬁ3am5ﬁm1nﬁ1n
FRET LA [ASERCIA
1 FRETRBUME o B A Hi X |t 5.8l 9.5 | —
2 LRELU o i 50 | LO|H 8.7 1450 1.O%E 1.0
EFLLISN O HilE
1 FREEIRG R o B T oS 1 5.8 | —
2 LECBUt o HbR 50 | L1|F 5.4 7. 460 108 1.0
BHERT (LSt |2 50 LI%SJ%SELIﬁMIﬁ
o PN R [ STER A
1 REIREHRIE N 0 B —fl 9.7 13—  —
2 bRELSt o 50 | L1 12ff 18§ 2.3 2.3
RFRLAA D Hitks
1 BFEREHIRN O R A KR —p#l 8. ofi 18 @ — —
2 EERLA O 50 | L1|f 1ifr 1500 2. 4% 2.4
BHET S LASA IR —We7 - - =
BT R4S VBT
1 BEIRBUBIER AN o 22 A DX —ft 9. 3 130 - —
2 ERCEA s 50 | L1 13fr 19+ 8.1 8.1
LELEASR > iR
1 ERRER B PN o 2 R il s —t 7o 12l | —
2 LERLS o 50 | L1|% 10d 15H 8.1 8.1
By TS HT L [ EE 5 5 5imn 50 | L.1|h 4o 594 8.7 8.7
EFRLIA 0> HitlE




ST 645y i = X 3E
I KE A4 . FEih i [E RS E
e R ks @ A o w4 [P PEEERTIBEITOGES
o| Wi b 1 BRI 0 DO, G P e e I
2 ERLIS 0K 50 | L1|F 11ffr 197 8.7 8.7
W AT T [EE 5 55w 50 | L.2|h 40 594 8.7 8.7
GBI B TARIE L
1 BESEREUMLIEL P o R F X I —H 9. 28 12 | —
2 _EFCLIS oM 50 | L2|f 19 19 8.7 8.7
_EFEEAS o HitkaR
1 BEETREL g PN o B A — 8T 12 | —
2 _EFLLIS oM 50 | L1|H 11F 199 8. 7% 8.7
B RTHT REpy
1 FREEIRG R o B T —H 9. TR 13 | —
2 _EFLSh oM 50 | L1 13F 18§l 2. 3% 2.3
ERELASN 0 HiU
1 IR MR o B2 T i Ik —d 9.6 13—  —
2 ERLEA O 50 | 1.1|% 1l 150 2. 3% 2.3
WP ET ) [EHE 5 5 50 50 | L.1|% 42f 587 8.7H 8.7
RGBT
1 BFEREHIRN O R A KR —p#l 9. 68 18 @ — —
2 _kERLIA o Hi 50 | L1|H 12 18 8.7 8.7
LFREAS oD Hirtsk
1 BRI P 00 B A K —pet 8.8 13— -
2 kELMS ot 50 | 1.1|#F 1f 154 8.7H 8.7
BPTHHET A A BRI
1 BEEEREHIE P o A K0 —En o 13 | —
2 LELIS o i, 50 | L1 19F 197 8.7 8.7
_ERELA o> it
1 FEEHREL MG P o B A M K — 9. TRE 13 — -
2 LISk o M 50 | L1 11 15 8.7 8.7




&F0 645y i = X 1H
HXATE 4 . FeE P E RS
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
o BFTHETH L RIEB
1 BRI o B A Hl X I —d 9.6/ 13— —
2 LERLIA o i 50 | L1 19 18ph 2. 3%l 2.3
_BFRLASN o HitkeR
1 RS M Py o B A X —H 9. TR 13 | —
2 LFELIA o i 50 | L1 1ifb 150 2. 3% 2.3
B ET PE Ay REmy
1 BEETREL g PN o B A —F 9.0t 13 | —
2 LRELU o i 50 | Lo 13 1960 2.0%0 2.0
EFLLISN O HilE
1 FREEIRG R o B T —Htoo.ef 13 | —
2 _EFLSh oM 50 | L1 1 16l 2. 0% 2.
WF T BT P4 EiE5 55, WiEEFEFEFmA - L5 ImEH — | B Jﬁlblﬂﬁﬁttfj - -
i, TEETE AR R S ) B & 7 gy
(MBI EETr)
LREUAOEES 5 B 50 | L1 394 59F 8.7 8.7
ERELASR D iR
1 REIRE RN o 2 T K —d Lo 13— —
2 LR o 50 | L1 1 194 8.7 8.7
B TR RAe y ok SR B HO 58 P 0D R S X i 9.0t 13— —
ERCLLSR oD Hirksg 50 | 1.1 (% 1yfr 17 1.9 1.9
W e S [EE 5 5 B 50 | L.1|f 37 59 8.7 8.7
RIEB W
1 BB o B2 A X I —l 19 31 —| =
2 LERLIS o s 50 | L1|f 30 47 8.7 8.7
_EERLIA 0 il
1 RS o = A KO —h o. g%l 12 — —
2 LFELh o g 50 | L1 11 19 8.7 8.7
BRI ERIR Fo SR B PR oD o P L X —JHti 8. 1f@ 12 - -




ST 645y i = X 5E
HXATE 4 . FeE P E RS
e R ks @ A o w4 [P PEEERTIBEITOGES
O BRI ERLAS o aﬁ Lf¢ S# émsﬁmsﬁ i |
LA lRYE = BAEmB L
1 EEEIRS M o 2 Hh K —l oo 13 |  —
2 FELS o 50 | 11| 13[: 19MF 8.7 8.7
RS o i
1 FEEEIRER ML o A HE X —fel 8o 120 | —
2 kLo 50 | L1|h 19 15 8.7 8.7
B AT AR, P2 2 1 LM AR P 00 2 R At X oo Bt 13 | —
LIS 0 i 50 | L[ 11F 1560 2. 440 2.4
Y THRT REACSE [ SERAIA
1 FREEIRG R o B T ﬁ9ﬁﬁ 13 - -
2 LECBUt o HbR 50 | L.1|F 13 19 8.7 8.7
ERELASN 0 HiU
1 IR MR o B2 T i Ik —d 8.0 12—  —
2 ERLEA O 50 | L.1|% 10 154 8.7H 8.7
WFTHT A & 0 B
1~4TH |28k 50 | 1.1 |AHEEKYE  — -
BF il 4 &0 BRI
1~3TH |&8 50 | 1.1 |FEEEHYE  — —
<ol BORETHI A R SR B P oD 2 P M X3 —l 5.5 9.7 —| —
ERCEASR D i 50 | 1.1 |4 9.7 128 1.6 1.5
AT AR R R BT P 0D B I —oti 5.4 9.7 —| —
ERCEASS D 50 | L1|H 9.7/ 128 1. 4%E 1. 4
AR T4 Ei#E e
1 EEEIREUIEL PN o 2 A I —Ft 1o 12l | —
2 LERLS o 50 | 11| 16 16%0 1. 46 1. 4
L FRELA o itk
1 RN o B A O —%5jﬁ9j -1 -




ST 645y i = X 6
HXATE 4 . FeE P E RS
S (TR wass @M m oW g [P ACEERTEECEA RS
= BZEET T3 2 bRELS oK 5ﬁ IJiF9g¢ é@LZﬁLi i |
BT B EEHR
1 PSRN o 2 A Hh K — oo 12 | —
2 FELS o 50 | L1|f 15 16 1.4 1.4
RS o i
1 BRI PN 0 B A K L I
2 kLo 50 | LL[h 9.7/ 13t 14 1.4
TR F45 EEe
1 REEIRBE G o B A il O —Et ol 12l | —
2 LSO K 50 | 11| ME I I
RERLAA 0D Hitg
1 REERE N o 2 A O —t 5B 9.7 | —
2 RSO R 50 | L1 9.7 12 14 1.4
AT F45 1L E#E R
1 REIRE RN O 2 A O —t Lo 120 - —
2 RO 50 | L1 ME 16 - -
RFRLAA D Hitks
1 BFEREHIRN O R A KR —p# 5. 500 9.7 — —
2 EERLA O 50 | L1 9.7 120 1.4 1.4
R+ 2 A& = SR B P oD = T M X A —idi 5. 50 9.7  — —
LIS o itk 50 | 1.1|d 9.7 12 1. 4 1. 4
TAE T P (L) R R BT P 0D B I —foti 5.5E 9.7 —| —
ERCEASS D 50 | 1.1 |4 9.7 13 1. 54 1.5
AR (EEmLAN) R 50 | 1.0 [ 1. 50 2. Ol 1. 5l 1.5
K| Fner e R BT PN oD o P i DU %SJEQA -1 -
_EEELIAN 0> itk 50 | 1.1|% 8.5 164 6.4 5.6




